H & 0l & AHS B Ml A

2A: el d A
A MPAES
chel: MSAE 435 (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
PN R PR 17,486,576 17,268,148 218,428
= 726,817 691,592 35,225
s 2,204,678 2,416,800 A122,122
| 90,848 90,848 0
£ 100,000 100,000 0
= 2,316,856 2,294,967 21,889
CH 1,800,000 1,800,000 0
s 10,157,377 9,873,941 283,436
AMARE 5,444,416 5,426,766 17,650
= 6,180 1,641 4,539
s 1,190,000 1,190,000 0
£ 100,000 100,000 0
= 26,570 18,734 7,836
CH 1,800,000 1,800,000 0
ik 2,321,666 2,316,391 5,275
HSAE 243 220,830 219,310 1,520
S 100,000 100,000 0
= 760 0 760
[ias 120,070 119,310 760
HSANE 243 L AMEE A2 220,830 219,310 1,520
s 100,000 100,000 0
S 760 0 760
s 120,070 119,310 760
307 212+01& 1,520 0 1,520
= 760 0 760
[ias 760 0 760
06 2= 1,520 0 1,520
oMSAY AMSH 228 XA
217, 1003701 &4 1,520 0 1,520
= 760 0 760
s 760 0 760
NS F M- st 4,815,290 4,804,290 11,000
= 3,000 0 3,000
s 1,190,000 1,190,000 0
S 6,000 0 6,000
CH 1,800,000 1,800,000 0
= 1,816,290 1,814,290 2,000
FEMENED 2 29 2,999,000 2,988,000 11,000
= 3,000 0 3,000
s 1,190,000 1,190,000 0
S 6,000 0 6,000
s 1,800,000 1,798,000 2,000
301 Et2E = 2,391,000 2,380,000 11,000
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2A:
X XH -
o e

=aak

2Atel B M A
A RIE

(BAN= R ly—)

PN = kery

SA - BB SRAGIH) - NSAY - BES il v ol o HlDE2
= 3,000 0 3,000
2 1,190,000 1,190,000 0
= 6,000 0 6,000
2 1,192,000 1,190,000 2,000
14 JIEH2 A3 2,391,000 2,380,000 11,000
CNEA FOITHEHS(THINR)
300,000, 00024 +2% 6,000 6,000
= 6,000 6,000
OXIHAISABH LR (RIS 5
xie) 100,000, 0002 +55% 5,000 0 5,000
= 3,000 0 3,000
2 2,000 0 2,000
AaZol N 2l 408,29 403,166 5,130
2 3,180 1,641 1,539
= 19,810 18,734 1,076
2 385,30 382,791 2,515
PONETIIPE 408,29 403, 166 5,130
= 3,180 1,641 1,539
= 19,810 18,734 1,076
2 385,30 382,791 2,515
301 YBHHFZ 10,601 5,471 5,130
= 3,180 1,641 1,539
= 2,170 1,004 1,076
2 5,251 2,7% 2,515
14 JIEH2 &3 10,601 5,471 5,120
oxEIIZA Y22 K
2,0002 101 4 *2703] 5,400 0 5,400
2 1,620 0 1,620
= 1,130 0 1,130
2 2,650 0 2,650
OB L EHAS XK
A% 520, 100211004 5,201 5,471 A270
= 1,560 1,641 A8
= 1,040 1,004 ~54
2 2,601 2,7% A135
NEEESN 58,000 60,000 2,000
< 17,400 18,000 600
2 40,600 42,000 A1,400
EEER 58,000 60,000 2,000
= 17,400 18,000 600
2 40,600 42,000 A1,400
EEEN TS EY 33,000 35,000 2,000
= 9,900 10,500 2600
2 23,100 24,500 A1,400
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=AY

NI =N

33 N9SSHA
Rl D=esSsH=Ed EER=E)
SN - B - S2A(BH) - HRAY - BES 0 &y ol B o HIRS
307 2Ito1d 33,000 35,000 22,000
< 9,900 10,500 2600
= 23,100 24,500 21,400
02 2IZHBYAIHE X 33,000 35,000 22,000
olt=3sH gs K&
Z&d 3,000,0002 %1100 2 33,000 35,000 A2,000
< 9,900 10,500 2600
i 23,100 24,500 21,400
dxrel&E 2,3%,140 2,425,952 169,812
= 296,504 272,645 23,859
= 315,678 437,800 A2,122
< 783,525 768,872 14,653
= 960,433 946,635 13,798
ZUNGIDNEE! 2,356, 140 2,425,952 169,812
= 296,504 272,645 23,859
as 315,678 437,800 n122,122
[ 783,525 768,872 14,653
T 960,433 946,635 13,798
ARIEDIY AFIIHEHl I 29,210 0 29,210
[ 8,763 0 8,763
= 20,447 0 20,447
307 2Itold 29,210 0 29,210
< 8,763 0 8,763
= 20,447 0 20,447
02 2IZHBYAIAE & 29,210 0 29,210
O ASIEDI AFDINEH X1
14,605,000 *29H 2= 29,210 0 29,210
< 8,763 0 8,763
= 20,447 0 20,447
ABIED IS E(LRLIEE, dE) 420,971 583,800 A 162,829
= 315,678 437,800 A2,122
< 21,058 29,200 28,142
i 84,235 116,800 A32,565
307 2IZto1 ™ 420,971 583,800 N 162,829
z 315,678 437,800 A2,122
< 21,058 29,200 N8, 142
= 84,235 116,800 N32,565
02 2B YA R E A 420,971 583,800 A 162,829
SARIEIIY Xt FE A 420,971 583,800 A 162,829
-l
Z& 15,178,840 +5H+50H A 379,471 542,300 N 162,829
= 284,603 406,725 A2,122
< 18,973 27,115 28,142
= 75,8% 108,460 A32,565
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2A:

E M

X=]

2Atel B M A
SN PSE

DAL

SA -3 - SA(3) - MISAY - B85 Off &K N3 A Hws2
NEENEEEEE] 40,876 54,000 A13,124
< 12,262 16,200 13,938
z 28,614 37,800 19,186
402 Q124X+ 0| 40,876 54,000 A13,124
< 12,262 16,200 13,938
z 28,614 37,800 19,186
02 QIRIXHE AN 2 X (01K THE!) 40,876 54,000 A13,124
SAEIEII AlEEY| X2
2R 10,219,002 x4H A 40,876 54,000 A13,124
= 12,262 16,200 13,938
z 28,614 37,800 19,186
He FHA Q122 S AAY 210,473 194,381 16,09
= 94,65 70,797 23,859
< 34,645 37,075 A2,430
z 81,172 86,509 15,387
308 XHXISHHISOI& 210,473 194,381 16,092
= 94,656 70,797 23,859
< 34,645 37,075 A2,430
z 81,172 86,509 5,337
13 2| 2SO CHEH AR S EFA 210,473 194,381 16,09
%8I SIEA
2T 210,473,002 210,473 194,381 16,09
= 9,656 70,797 23,859
< 34,645 37,075 A2,430
z 81,172 86,509 75,337
ZIIFE HAs D 29 XNV (E HEXY) 1,500 8,661 A7,161
308 XIS AISO0I & 1,500 8,661 A7,161
13 2| 2SOl CHEHZ AL S EFA 1,500 8,661 A7, 161
oXIIFYY M4 S22 NV
2 750,002 +2 1,500 8,661 A7,161
S27 FEAT| A 8,000 4,000 4,000
= 4,000 4,000 0
= 1,200 0 1,200
= 2,800 0 2,800
308 XHXIEHHISOI & 8,000 4,000 4,000
= 4,000 4,000 0
< 1,200 0 1,200
z 2,800 0 2,800
13 2| 2SO CHEHZ AR S EFA 8,000 4,000 4,000
STRISE GPSANY 4-34D| 2+ S| (20231)
2 8,000,0002! 8,000 4,000 4,000
= 4,000 4,000 0
< 1,200 0 1,200
= 2,800 0 2,800
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2A:

X XH -
o=

2Atel B M A

SN PSE

el eXel X (SH9 H2)
SA B SABH) - KIRAY - BLS o &r o) 3 o HIDS2
dg 3 Y eXtel N2A 64,000 0 64,000
< 19,200 0 19,200
= 44,800 0 44,800
308 AXIMSOIA 64,000 0 64,000
< 19,200 0 19,200
= 44,800 0 44,800
13 SI[2SHE B & EAS A 64,000 0 64,000
olg HY SLANCIAY I |12 AE
ArSHI 64,000,000& 64,000 0 64,000
< 19,200 0 19,200
s 44,800 0 44,800
HELdXel&E 282,546 275,719 6,827
= 184,406 177,579 6,827
pJ 21,800 21,800 0
< 18,768 18,768 0
i 57,572 57,572 0
JEHENY FHIAH 272,946 266,119 6.827
= 184,406 177,579 6,827
Jl 21,800 21,800 0
< 15,888 15,888 0
= 50,852 50,852 0
HgXgussd 65,546 58,719 6,827
= 65,546 58,719 6,827
201 LEH2 | 46,486 49,659 N3,173
= 46,486 49,659 A3,173
01 AtR2t2l] 46,486 49,659 A3,173
oXAEH ZZH 29 Y AIREF 7
s ZA 14,122,000 *3H A 42,366 49,659 NT7,293
= 42,366 49,659 N7,293
oXEH T2 EEE MA S
1,030,000 *43] 4,120 0 4,120
= 4,120 0 4,120
301 LEEEZ 19,060 9,080 10,000
= 19,060 9,060 10,000
14 JIEt2 = 10,000 0 10,000
oXHEHM TR A
250,000 2 »203] 10,000 0 10,000
= 10,000 0 10,000
MEHE 2 & Atz 31,000 31,000 0
= 15,500 15,500 0
< 3,100 3,100 0
o 12,400 12,400 0
201 fet=3| 14,440 16,440 2,000
= 7,220 8,220 21,000
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2A:

X ZH -
o=

2Atel B M A
Mg EE

&l ZEHENY FHYXA (SH &)
SA - B - SA(SH) - MRA - BAS ol &r o H o HIDS2
< 1,444 1,644 2200
s 5,776 6,576 A800
03 A2 I 2,000 4,000 A2,000
oYitel s L Y 23
Z& 2,000,000 2,000 4,000 22,000
= 1,000 2,000 1,000
< 200 400 2200
s 800 1,600 2800
301 LENZ 3,560 1,560 2,000
= 1,780 780 1,000
< 356 156 200
[ias 1,424 624 800
14 J|Et2 a3 2,000 0 2,000
cAtZZte|ZZ2 2 2FAHI
200,000 %1081 2,000 0 2,000
= 1,000 0 1,000
< 200 0 200
T 800 0 800
N Pl fea g 4,187,850 4,293,404 105,554
=S 1,000,000 1,000,000 0
= 3,187,850 3,293,404 105,554
JgdEXE 4,157,700 4,263,254 105,554
< 1,000,000 1,000,000 0
T 3,157,700 3,263,254 A105,554
saJY =4 248,140 198, 140 50,000
308 XXM SOOI 235,590 185,590 50,000
18 BV 2SS & AET AL 50,000 0 50,000
oArAEAD|B RFAE (2 - & HEXH)
50,000,000& 50,000 0 50,000
ADIEZE 23 - &4 A(Z2 - & ZEXR) 195,000 207,000 212,000
308 AtXIEMSOIE 195,000 207,000 212,000
183 SISOt EAS AIS | 195,000 207,000 212,000
CANESE 2ESELMAZ
23 19,000,000 195,000 207,000 212,000
KNEEAZIAH SHEM(Z - = HEXY) 180,700 277,000 A96,300
308 KFXIEHHMSOIS 180,700 277,000 A96,300
183 S| 2SS & AET AL 180,700 277,000 296,300
oXFSHASHAH SEAMY
2 & 180,700,000 180,700 277,000 A96,300
ANIESAHSDIE 2EAY (2 - & HEXY) 81,360 128,614 N7, 254
402 SIZERHE0| M 81,360 128,614 N7, 254
01 QI T2 AIE 2R (RAMITHE) 81,360 128,614 NAT 254
o AIEE LB AEAIY
& 81,360,000& 81,360 128,614 NAT 254
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2A:
X XH -
o e

=aak

\;
HY2EZHI(LAt2IBHA)
=]

SA B SABH) - KIRAY - BLS o &r o) 3 o HIDS2
A 2SZH(LT2IBHA) 361,356 315,856 45,500
= 81,791 81,791 0
Il 69,048 69,048 0
= 16,358 16,358 0
o 194,159 148,659 45,500
el 338,031 292,531 45,500
= 81,791 81,791 0
) 69,048 69,048 0
== 16,358 16,358 0
= 170,834 125,334 45,500
FHAMGA 2H(12]) 188,082 163,582 24,500
= 81,791 81,791 0
& 16,358 16,358 0
T 89,933 65,433 24,500
101 @124H| 169,682 150,682 19,000
= 75,341 75,341 0
= 15,068 15,068 0
o 79,273 60,273 19,000
03 SRA(RIH )22 U2+ 169,682 150,682 19,000
oHYMEA QA (ZHIFIH)
38 4,750,000 44 19,000 0 19,000
04 HSRESS 18,400 12,900 5,500
= 6,450 6,450 0
S 1,290 1,290 0
Ea 10,660 5,160 5,500
4 BRA(RIHA)22N HEERES S 18,400 12,900 5,500
SHANEA HIBEE (ZHIFIH)
g8 750,0002 44 3,000 0 3,000
oFHPAGA HLEHE(2HIFIH
38 625,0008 %44 2,500 0 2,500
doagm=z2 g 2H(2124H]) 90,048 69,048 21,000
Jl 69,048 69,048 0
[Ea 21,000 0 21,000
101 e124d| 80,848 61,848 19,000
Jl 61,848 61,848 0
s 19,000 0 19,000
03 SRA(RINAHL) 222+ 80,848 61,848 19,000
oXPAGAL QIABI(ZHIFIH)
Z& 9,500,000 24 19,000 0 19,000
M A=FLSS 9,200 7,200 2,000
Jl 7,200 7,200 0
s 2,000 0 2,000
M BRA(RIAHSL) 22N BEEERE=S S 9,200 7,200 2,000
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2A: dXelZHA
M Y SAFH|(LXI2IZHA)
o ol 2I| (SH9 H2)

SN - BE - SRA(SIH) - NIRAY - BES 0 &t ol & o blnE2

,000&x2H 1,000 0 1,000

A 500,0002+2H 1,000 0 1,000
Hess(LX2IBHA) 368,464 42,647 325,817
SFSINES 368,464 42,647 325,817
BAEXS 368,464 42 647 325,817
802 Btat=2D|E 368,464 42 647 325,817
01 2DNEXIte=2 116,274 40,979 75,295
o023 KISAIZIAIER i X2 A (OI A
HEH) 60,551,110 60,552 0 60,552
o023 =B A A5 XIR A (01X
320 1 0 1
o20288 (A ZMES =& N3
8,822, 5902 8,823 0 8,823
o2023E MYUME HoaZT2 O 2HK|
! 4,163,860 4,164 0 4,164
o023 PMEE QLM 2| (0| X})
190 1 0 1
o2023E 0210] JISAIE Meze|’ 29(0
x) 780 1 0 1
©2023E O{2I0ISA eI XIRHE EXI2F(
Ol KtZL &) 1,646,220 1,647 0 1,647
o20238 ABIEXIZAHCIXALME LXI2Y
((IpES=) 105,370 106 0 106
02 Al - SHIEX 22 252,190 1,668 250,522
20238 MEAIE HEH 2SS KIRAF(
OIXFE &) 1,007,000 1,007 0 1,007
o023 KISAIZIAIER X2 A (OI A
i) 86,493,250 86,494 0 86,494
o023 =5t A A5 XIR A (0K
26024 1 0 1
o022 ZEIIHAAL A XA (0IXH)
300 1 0 1
o023 CIXIE LAZ01 10F 2 XA (
OIXFE &) 1,380,560 1,381 0 1,381
o023 2tRALBH DX KR AF(
Ol KtEL &) 294,260 295 0 295
o2BE AERE - [HAHH B2Xt2] XA
(IPAES=) 2,415,3402 2,416 0 2,416
o023 A FAX =HH| KA (0| XHE
&) 907,550 908 0 908
o023 M SUCIHEEH X2 AFL (Ol
=y 1,762,630 1,763 0 1,763
o2028E HEHBE AS =52 XFALY (01X
HEH) 24,783,320 24,784 0 24,784
o0 MIAHE 2F2XIFE XA (0]
pNEEL=ly! 58,485, 150 58,486 0 58,486
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2A:

2| B A

HE: XH?%%(O'IPEI%HIQ)
Sl 28NS (CHl: & 2l)
A - 3 - S2A(FH) - MRAY - BES Oil nFoH J| ol Hus2
ocBH MIE FEIZSH A3 AFI (0|
TS 3,49%4,0102 3,4% 3,495
ocE MUIE HEISHEAS AL (01X
=8 10,591, 100 10,592 10,592
cNRE DISDEX Z2AM HAE XA
(0| KHIZZE) 624,940 625 625
cRE #=cal S=22=HI(0IX)
1,350 2 2
o023 ASHE 5| R2| &S (01X
3,5102 4 4
C2023E ABIMAMIIY HASEIE QA A
(0| KHZZE) 6,569, 180 6,570 6,570
o023 ALBIMERIIY AIEZHI XI&AH(
OIR}) 3502 1 1
o023 KIHZDEH LKA (0| RHELE)
24,004,990 24,005 24,005
o223 JACHEAH BAOISHIRH X
A 2,0502 3 3
o2023H HAZNES SA XA
620, 1402 621 621
o023 BAINS QIEA KA (OIXHELE)
13,238,470 13,239 13,239
o023 MYUMIE! SAAF KIS A (OIXHEE)
872,610 873 873
c2023E O2lol JISAIE MEzele 29(0]
Xt 1402 1 1
o0BE SAIE 3 MBS FTAIY(0IXH)
7602 1 1
cNBE SAIE AMSIH EoA SHEH
HI XI” A (OIXH) 2,4302 3 3
o223 SAIE AAHOIE L BAR AR
X2 A (Ol KHEL &) 3,121,620 3,122 3,122
ocNBE LT SAIHR| HESIA (OIS
9,476, 1502 9,477 9,477
o203 M{EI0ISAIZLIXIHE AXI2Y(
O| Ktz 8t) 329,2402 330 330
o2023E AlB|=XISARSIXRHE LXI2
(0| R E) 21 0609-1 2 2
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